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Question Bank For BDP Course
&ffzF SI15@ ™ ( Elective Course )

3if¥e7 ( Commerce )

(8N 7@ ( 8th Paper )
Auditing & Management Accountancy : ECO-08

What are the social objects of Audit?

fET #Rrw I A Sy (e 2

The word Audit has been originated from which word?

(F = (A Gh *ha GeoifE 2

Where non-statutory audit is applicable?

i@ AR (IR SIS 2

What are the examples of voucher?
- —
OIGHI(IT LU (Rl o ?

What is a clerical error?
FIRPE oo 2

Is goodwill a fictitious asset?

ST 35 Spetie 771G 2

What is verification of assets?

Tifeq Sy TH1EFAT F1 2

In which method inventory valuation is done?
G AT (P17 JCT ETIAT FT 2 2
What are the examples of contingent assets?

TG HGq SRR (PR 2

What are the purposes of Investigation of Account?

fooTR ALFI® OB SrTafer FT 2

Why depreciation occurs?
SEB (P 7 ?
What are the objects of creating general reserve?

A1l Afefs fEq Traprele § 2

What are the different sources of divisible profits?

FHACAN T e Sevafer 2

When dividend can be paid out of capital?
ST CACP STOJI F G ST T ?

What is negative audit report?

off ST 31 e T A= 1 2

What are objects of management accounting?

/BT RARTF R Srereset B 2

Inventory Rs. 2,00,000, Sundry Debtors Rs.2,00,000,Creditors Rs. 1,00,000 . Calculate the

amount of working capital.

JGT A 2,00,000 GRF, (AR 2,00,000 BIRF, ATSTMIR 1,00,000 BT | 5o FeT4Cwg 2t
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What is negative working capital?

TR bSO T Fl 2

What are the factors which will determine the working capital of a business?

(I (I I ToT Gl FIRAC b1 0 A fSa e 2

Total current assets Rs. 1, 00,000, Total current liabilities Rs. 50,000.What would be the
Current ratio?

oG 51 5717 1,00,000 51T, (NG 5&1S WK 50,000 BIFFY, 5e1fS SRAM® T 704 2

Fixed Assets Rs.2, 00,000, Current assets Rs. 1, 00,000, Current liabilities Rs. 50,000, Net Profit
Rs. 10,000. What would be ROCE?

FIA G 2,00,000 5T, 5o 4G 1,00,000 GReT, 5o W 50,000 BIFl, NG =]
10,000 BT, ROCE f~{fgel 3536

What are the different profitability ratios?
SIS S XS] (WU SO F 2

What is fund?
o2 [ 2

What does the cash flow statement show?

Jo7 217 @M = orarg 2

Given the following transactions for investments for a period:
Opening balance Rs.22, 500

Closing balance Rs. 20,000

Sale of Investment (Cost Rs. 10,000) Rs. 9,600

Calculate cash outflow in respect of purchase of investment.

fRFNCICaR ST (e (e 241 :

ARGF (T 22,500 BIFT

@ (71 20,000 G

fafvczmar e (cost 10,000 BIFFT) 9,600 Biet

fRfRCIe S I (0 o IR eICRd AR o %]
What is budgetary control?

ITSTCHR T et 6 2

Budget is related to what?

ices RBOT M0 @ 2

How to calculate Break Even Point (BEP)?
Break Even Point (BEP) RFSIa el 331 237 2

Unit sale price Rs. 10, Unit variable cost Rs. 7. Calculate P/V Ratio.
9P RETET 10 519, 93 ARSI 3 7 B, o1 SO SegAS  (P/V ratio) o

A

How to calculate Contribution?

SR (contribution) RFSTCR el w4l 2372



